Akceccyapbl K CUTHOAbHbIM KOAOHHaOMU WERMA
TexHn4yeckmne XapakTePUCTUKMN

ApxaHrenbck (8182)63-90-72
ActaHa (7172)727-132
AcTpaxaHb (8512)99-46-04
bBapHayn (3852)73-04-60
Benropog (4722)40-23-64
BpsiHck (4832)59-03-52
BnagneocTtok (423)249-28-31
Bonrorpag, (844)278-03-48
Bonoraa (8172)26-41-59
BopoHex (473)204-51-73
ExaTepuHbypr (343)384-55-89
MBaHoBO (4932)77-34-06

EAVHBIN aapec aas BCex permoHos: wme@nt-itru | | www.wema.nt-t.ru

MxeBck (3412)26-03-58
pkyTck (395)279-98-46
KasaHb (843)206-01-48
KannHuHrpag (4012)72-03-81
Kanyra (4842)92-23-67
KemepoBo (3842)65-04-62
Knpos (8332)68-02-04
KpacHogap (861)203-40-90
KpacHospck (391)204-63-61
Kypck (4712)77-13-04
Nvineuk (4742)52-20-81
Poccus (495)268-04-70

MarHuToropck (3519)55-03-13
MockBa (495)268-04-70
MypmaHck (8152)59-64-93

HabepexHble YenHbl (8552)20-53-41
HwxHwnii Hosropog (831)429-08-12

Hosoky3HeLk (3843)20-46-81
HoBocnbunpck (383)227-86-73
OmMck (3812)21-46-40

Open (4862)44-53-42
OpeHbypr (3532)37-68-04
MeHza (8412)22-31-16
Knprusms (996)312-96-26-47

MepMmb (342)205-81-47

PoctoB-Ha-/loHy (863)308-18-15

PazaHb (4912)46-61-64
Camapa (846)206-03-16

CaHkT-lNeTepbypr (812)309-46-40

CapaToB (845)249-38-78
CeBacrtonosb (8692)22-31-93
Cumdeponons (3652)67-13-56
CmoneHck (4812)29-41-54
Couum (862)225-72-31
Crasponosb (8652)20-65-13
KazaxcraH (772)734-952-31

CypryT (3462)77-98-35
TBepb (4822)63-31-35
Tomck (3822)98-41-53
Tyna (4872)74-02-29
TioMeHb (3452)66-21-18
YNbAHOBCK (8422)24-23-59
Yoda (347)229-48-12
XabapoBck (4212)92-98-04
YensbuHck (351)202-03-61
Yepenosel, (8202)49-02-64
Slpocnaenb (4852)69-52-93


mailto:wme@nt-rt.ru
http://www.werma.nt-rt.ru

Overview Accessories for Signal Towers

Overview Accessories for Signal Towers Classic-  Design- | Classic-  Design- | Classic-  Design-
LOOK LOOK LOOK LOOK LOOK LOOK

Accessory KombiSIGN 71  KombiSIGN 72 KombiSIGN 40 KOMPAKT 37  Page
Cable, 5m ® 66
Bulb BA15d ° 66

Bracket for surface mounting, incl. cable

°
gland M16 x 1.5 66 + 68
Bracket for 1-sided mounting, incl. rubber ° ° ° 66 + 68
seal
Bracket for 2-sided mounting, incl. rubber ® ® ® 66
seal
Bracket for fube mounting, incl. cable gland ° ® 79473
M16x 1.5
Brockgt for base mounting, with concealed cable ° ° ° ° ° ° ° 79 4 73
entry, incl. rubber seal
Corner fixing bracket ° ° ° ° ° ° ° 79
KOMPAKT 37 with Base-mount tube
Erockef for assembly on aluminium profiles, ° ° ® ® 74 + 75
incl. cable gland M12x 1.5
Bracket for concealed cable entry [ [ [ [ 74
Tube @ 25 mm plastic, for direct mounting of the ° ° 69
terminal element onto the Foldaway Base
Tube @ 25 mm, all anodised aluminium ® ® 68 + 69
Tube with clamp @ 25 mm, 250 mm long, ° ° ° ° ° 69
incl. cable gland
Base with inTegr.oTeld fube @ 25 mm, 110 ° ° ° 69 + 71
mm long, plastic, incl. rubber seal
Base for tube @ 25 mm, plastic, incl. rubber ° ° ° ° ° 69 + 71
seal
Base for tube @ 25 mm, metal, incl. rubber ° ° ° ° ° 69
seal
Base with infegrated tube ] ® 75

KombiSIGN reflect ° ° ° 66




Overview Accessories for Signal Towers Classic-~ Design- | Classic-  Design- | Clossic-  Design-
LOOK LOOK LOOK LOOK LOOK LOOK

Accessory KombiSIGN 71 ~ KombiSIGN 72 KombiSIGN 40 KOMPAKT 37  Page
Cable gland for surface mounting, = ° ° ° ° ° 69 + 71
M16x 1.5
Adaptor for single hole mounting, ° ° °
@25 mm, M18 66+ 68
Adaptor for tube mounting @ 25 mm [ ] [ ] [ ] 66 + 68
Indication board = ) ) ) ) ) 66 +74
Foldaway Bosg, Signal Tower can be ° ° ° 69
folded away, incl. rubber seal
Foldaway Bosg, Signal Tower can be ° ° ° 69
folded away, incl. rubber seal
Contact box for cable exit at side L] L] L] L] 72
Contfact pox vyith magnetic base and ° ° ° ° 79
cable exit at side
Extension fube L] L] 75

Overview Accessories for Signal Towers

Accessory desSIGN 42 Flatsicn Page

Surface housing single L] 76

Fixing kit L] 77




Overview Accessories for Signal Towers

KombiSIGN 71

Cable 5 m with M12 connector and plug
Order no. 960 000 46

Cable 5 m with M12 plug

Order no. 960 000 47

Cable 5m

with M12 connector

Order no. 960 860 01

Bulb BA15d,

total length max. 42 mm
12V, 5 Watt 955 840 34
24V, 5 Watt 955 840 35
30V, 5 Watt 955 840 32

115V, 5 Watt 955 840 57

230V, 5 Watt 955 840 38

KombiSIGN 71 and 72 - ClassicLOOK

Bracket for surface mounting
incl. cable gland M16 x 1.5
Order no. 960 000 02

Adaptor for tube mounting
@ 25 mm / 1/2" NPT thread
Order no. 975 840 02

Bracket for 2-sided mounting,
incl. rubber seals
Order no. 975 840 86

Adaptor for single hole mounting
@ 25 mm, M18
Order no. 960 000 25

Bracket for 1-sided mounting,
incl. rubber seals
Order no. 975 840 85

KombiSIGN reflect
Order no. 861 640 01 “
Order no. 861 640 02 = |}

Indication board

(for tube mounting)

Order no. 960 000 05
Dimensions of indication
board (W x H): 153 x 345 mm

Surface area per section (W x H):

C. 144 x 54 mm
Avery/Zweckform 3424 Fault
(105 x 48 mm), Refill

Herma 4281 (105 x 50.8 mm)
(not included in assembly)

Overheating

Station 2

Machine in
operation

Material:
PMMA

* For one to five modules

» Simple mounting onto signal fower tube
* Ample space for written information

» Simply break off unwanted segments




< TECHNICAL DIAGRAMS:

960.000.02 960.000.04 960.000.25

960.000.05 975.840.85 975.840.86

975.840.02 861.640.0X




Overview Accessories for Signal Towers

KombiSIGN 72 - DesignLOOK

Adaptor for single hole mounting Bracket for 1-sided mounting, Bracket for surface mounting
@25 mm, M18 incl. rubber seals incl. cable gland
Order no. 960 000 25 Order no. 960 000 52 M16x 1.5

Order no. 960 000 53

Adaptor for tube mounting Tube @ 25 mm, all anodised aluminium
@ 25 mm / 1/2" NPT thread 100 mm long 975 845 10
Order no. 975 840 02 250 mm long 975 840 25

400 mm long 975 840 40

600 mm long 975 840 60

800 mm long 975 840 80

1000 mm long 975 840 03
Technical Diagrams see page 70

< TECHNICAL DIAGRAMS:

960.000.25 960.000.52 960.000.53

960.000.04 975.840.02




KombiSIGN 71,72 and 40 - ClassicLOOK

Foldaway Base - Signal Tower can be folded away, including rubber Foldaway Base - Signal Tower can be folded away, including rubber
seal, for tube (all anodised aluminium) @ 25 mm
(not included in assembly)

Order no. 960 000 30

Dimensions (@ x Height):

Material:
Cable diameter:
Fixing:

70mmx 117 mm

PA-GF

Max. 14 mm
Vertical, horizontal,
Positioning in 7.5° steps

U

Place the lower part
of the Foldaway
Base in the desired
position

2)

Q&J\ICK AND SIMPLE MOUNTING:

Attach the upper
part directly onto the
signal fower tube.
Insert the connection

cable

®

Tube with clamp, @ 25 mm,
250 mm long, incl. cable gland
Order no. 960 000 18

@

Base for tube mounting, @ 25 mm,
plastic, incl. rubber seal
Order no. 975 840 90

{

Tube @ 25 mm, plastic, 45 mm long, for
direct mounting on foldaway base (only for
KombiSIGN 71 and 72)
Order no. 960 000 31

O

Place the upper
and lower parts
together at the
desire angle

@

Place the upper and
lower parts together
at the desired angle

seal, for tube (all anodised aluminium) @ 25 mm
(not included in assembly)
Order no. 960 009 12

Dimensions (& x Height):

Material;

Cable diameter:

Fixing:

PA-GF

70 mm x 85 mm

Max. 8 mm
Vertical, horizontal,
Positioning in  0° and 90°

Base with integrated tube,
@ 25 mm, 110 mm long,
plastic, incl. rubber seal

Order no. 975 840 10

Base for tube @ 25 mm, metal,

incl. rubber seal, recommended for tube

lengths of 400 mm and longer

Order no. 975 840 91

QUICK AND SIMPLE MOUNTING:

or horizontally - onto
the foldaway base

©) @
Place the ,foldaway" Attach the tube Fix the whole Place the cover on
base in the desired adaptor directly to assembly - tube the other open end
mounting position the signal tower and adaptor and signal
introduce the cable tower, in the desired
position, vertically

Tube @ 25 mm, all anodised aluminium

100 mm long 975 845 10
250 mm long 975 840 25
400 mm long 975 840 40
600 mm long 975 840 60

800 mm long 975 840 80
1000 mm long 975 840 03

Cable gland for surface
mounting, M16 x 1.5
Order no. 960 000 04




Overview Accessories for Signal Towers

< TECHNICAL DIAGRAMS:

960.000.30 960.009.1X
975.840.10 975.840.03
975.840.40 975.840.60

975.845.10 975.840.90

960.000.18

975.840.25

975.840.80

975.840.91




KombiSIGN 72 and 40 - DesignLOOK

Base for tube mounting, @ 25 mm, Base with integrated tube, Cable gland for surface
plastic, incl. rubber seal @ 25 mm, 110 mm long, mounting, M16 x 1.5
Order no. 960 000 50 plastic, incl. rubber seal Order no. 960 000 04

Order no. 960 000 51

ollis

< TECHNICAL DIAGRAMS:

960.000.50 960.000.51




Overview Accessories for Signal Towers

KombiSIGN 71, 72, 40 and KOMPAKT 37 - ClassicLOOK

Bracket for tube mounting, Bracket for base mounting, Cormer fixing bracket
incl. cable gland M16 x 1.5 with concealed cable entry, (KOMPAKT 37 with Base-mount tube)
Order no. 960 000 01 incl. rubber seals Order no. 960 000 41

Order no. 960 000 14

Contfact box for cable exit Contact box with magnetic
at side, with mounting material base and cable exit at side
and seal, cable gland M16 x 1.5 cable gland M16 x 1.5
Order no. 975 840 01 Order no. 975 840 04

< TECHNICAL DIAGRAMS:

960.000.01 960.000.14 960.000.41

975.840.01 975.840.04




KombiSIGN 72, 40 and KOMPAKT 37 - DesignLOOK

Bracket for tube mounting, Bracket for base mounting,
incl. cable gland M16 x 1.5 with concealed cable entry,
Order no. 960 000 54 incl. rubber seals

Order no. 960 000 55

< TECHNICAL DIAGRAMS:

960.000.54 960.000.55




Overview Accessories for Signal Towers

KombiSIGN 40 - ClassicLOOK

Bracket for assembly on aluminium profiles Bracket for concealed cable entry Indication board
incl. cable gland M12 x 1.5 Order no. 960 630 01 (base/wall mounting)
Order no. 960 630 02 Order no. 960 630 08

Indication board
(tube mounting)
Order no. 960 630 09

KombiSIGN 40 - DesignLOOK

Bracket for assembly on aluminium profiles Bracket for concealed cable entry Indication board
incl. cable gland M12x 1.5 Order no. 960 630 05 (base/wall mounting)
Order no. 960 630 06 Order no. 960 630 08

Indication board
(fube mounting)
Order no. 960 630 09

< TECHNICAL DIAGRAMS:

960.630.02 960.630.01
960.630.06 960.630.05

960.630.08 960.630.09




KOMPAKT 37 - ClassicLOOK

Extension fube Base with integrated tube Bracket for assembly on aluminium profiles
Order no. 960 698 02 Order no. 960 698 01 Order no. 960 630 02

O C

KOMPAKT 37 - DesignLOOK

Extension tube Base with integrated tube Bracket for assembly on aluminium profiles
Order no. 960 698 04 Order no. 960 698 03 Order no. 960 630 06

O O

< TECHNICAL DIAGRAMS:

960.698.02 960.698.01 960.630.02
960.698.04 960.698.03 960.630.06




Overview Accessories for Signal Towers

DeSIGN 42
Surface housing single Bracket, stainless steel (Protection rating IP33)
Order no. 975 109 02 Order no. 960 694 01

< TECHNICAL DIAGRAMS:

975.109.02 960.694.01




FIatSIGN
Fixing kit
Order no. 975 691 01

< TECHNICAL DIAGRAMS:

975.691.01




ApxaHrenbck (8182)63-90-72  MxeBck (3412)26-03-58 MarHuToropck (3519)55-03-13 Mepmb (342)205-81-47 CypryT (3462)77-98-35

ActaHa (7172)727-132 MpkyTck (395)279-98-46 Mocksa (495)268-04-70 PoctoB-Ha-/loHy (863)308-18-15  Teepb (4822)63-31-35
AcTpaxaHb (8512)99-46-04 KazaHb (843)206-01-48 MypmaHck (8152)59-64-93 PasaHb (4912)46-61-64 Tomck (3822)98-41-53
bBapHayn (3852)73-04-60 KannHnHrpag (4012)72-03-81 HabepexHble YenHbl (8552)20-53-41 Camapa (846)206-03-16 Tyna (4872)74-02-29
Benropog (4722)40-23-64 Kanyra (4842)92-23-67 HwxHwnii Hosropog (831)429-08-12  CaHkT-MNeTepbypr (812)309-46-40 TiomeHb (3452)66-21-18
BpsiHck (4832)59-03-52 KemepoBo (3842)65-04-62 Hosoky3HeLk (3843)20-46-81 CapaToB (845)249-38-78 YNbAHOBCK (8422)24-23-59
BnagmeocTok (423)249-28-31  Kupos (8332)68-02-04 HoBocnbunpck (383)227-86-73 Ceactonons (8692)22-31-93 Yoda (347)229-48-12
Bonrorpag, (844)278-03-48 KpacHogap (861)203-40-90 OMmcK (3812)21-46-40 Cumdeponons (3652)67-13-56 XabapoBck (4212)92-98-04
Bonoraa (8172)26-41-59 KpacHospck (391)204-63-61 Open (4862)44-53-42 CmoneHck (4812)29-41-54 YensbuHck (351)202-03-61
BopoHex (473)204-51-73 Kypck (4712)77-13-04 OpeHbypr (3532)37-68-04 Coun (862)225-72-31 Yepenosey, (8202)49-02-64
ExaTepuHbypr (343)384-55-89  Jluneuk (4742)52-20-81 MeH3a (8412)22-31-16 CraBpononb (8652)20-65-13 fApocnasnb (4852)69-52-93
BaHoBO (4932)77-34-06 Poccunsa (495)268-04-70 Kunprusus (996)312-96-26-47 KazaxcraH (772)734-952-31

EAVHBIA GAPOC AN BCOX perMoHoB: wme@nt+tiu | | www.wemna.ntt.iu


mailto:wme@nt-rt.ru
http://www.werma.nt-rt.ru

	Пустая страница
	Пустая страница
	Пустая страница



